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The fastener - member dimension shown below is for the 
untightened configuration. Compute the following

The bolt spring rate, kb. Assume the bolt is made of steel and in 
the clamped state lt = 1.095 in, ld = 0.25 in, and At = 0.1599 in^
2.

a)

Member spring rate, km. Assume the washer and top member 
plate are made of steel and bottom member plate is made of 
gray cast iron. Use the pyramid cone method (also known as the 
conical frusta method)

b)

Member spring rate, km. Assume the washer, top and bottom 
members plate are all made of steel. Use the conical frusta 
method.

c)

Assume for steel, E = 30 (10^6), gray cast iron E = 14.5 (10^6). The 
diameter of the bolt is 0.5 in, diameter of the washer is 0.75 in.
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